1 EMRVEBRRAM

AR5 H AR A

| MR R DR O g | 4 ISP 5 R
T (R) —1 *ﬁjﬁﬁ%yﬁ%‘r’%go P12 29, 700 29,600 | A 0.3
T (R)  —2 EERTFAKL1627 1 52, 600 53, 100 1.0
T () —3 B RS ARIE 5 4 65, 200 65, 700 0.8
T () —4 V) AT 52 AR 2 1 1540720 55, 900 56, 000 0.2
T () —5 P H R ET 233230 81, 200 83, 200 2.5
T (R)  —6 I\ AT 1018907 2 11, 700 11, 700 0.0
T (R) —7 ?%fﬁ 6 T A968%34 TTHAEM 6 — 10 69, 000 69, 500 0.7
AT (R) —8 i\%f‘\ 1 TH2653% 14 TARR 1 -3 46, 000 46, 000 0.0
T (R —9 A T 12478214 71,800 72, 700 1.3
AT () —10 §£T5TE2191§§6 FEIARS —14 59, 400 60, 200 1.3
AT () —11 %£T7TE 165 RIAT —1 78, 000 79, 000 1.3
AT OR)  —12 tfﬁf‘sﬁ 3 TR25% THRNES =9 49, 700 50, 200 1.0
T () —13 V8 AT LRy 32807 18 56, 700 57, 300 1.1
T () —14 HIEHT 7709 67, 500 68, 000 0.7
T (B)  —15 FHET R 471716 63, 800 64, 500 1.1
T (B)  —16 HUH AT 7K 18397 6 4t 46, 800 47,100 0.6
P (B)  —17 TN & BT 5= 111733247 50, 800 51, 000 0.4
T () —18 HOH: T2 7H 12067 9 61, 000 61, 200 0.3
BT () —19 B BT 44 53 F o/ [E115563%97 22, 200 22,100 | A 0.5
T () —20 JEB S BT P R oK H 1927 10, 900 10,800 | A 0.9
r (B —21 JEB S BT PE T N TS AR 682 18, 800 18,500 | A 1.6
T (F)  —22 IS HRET RS 15497 11,700 11,600 | A 0.9
AT () —23 J\HRHTL o 5t 2538 % 354+ 9, 500 9, 500 0.0
T () —24 ESARMT N 1145% 8 15,100 14,900 | A 1.3
g () —25 FORBART EHH1732% 3 13, 500 13,100 | A 3.0
T () —26 FORBIHT R R 6657 2 9, 500 9,300 | A 2.1




iy () —27 E % BART AL i# 2807 7, 800 7, 700 A 1.3
Ay () —28 JVERTHUE 2013 22, 900 22, 900 0.0
Ay () —29 J\ERTRERF 7467 4 4 10, 900 10, 800 A 0.9
FATE (L) —30 J\ZERT H #1567 14 31, 600 31, 600 0.0
FATE (L) —31 EET ST 5437323 40, 200 41, 200 2.5
AT () —32 EGETGRI1T13 2 47, 800 48, 500 1.5
AT () —33 REMTHA2153% 2 16, 600 16, 200 A 2.4
WATL (L) —34 SRIEMT HUREF9947 24 17, 100 17, 000 A 0.6
AL () —35 O ZE W] EA T RR8147:3241 33, 000 33, 300 0.9
WAL (L) —36 W ERT BT E R #4113 1 35, 400 35, 600 0.6
fayr () —37 AR FERT 10373 28, 300 28, 100 A 0.7
FATE (L) —38 WA 83 % 78 29, 600 29,400 | A 0.7
AL () —39 AR 1197% 18, 500 18,400 | A 0.5
AT (R —40 25@@@@(;52%’;32 AR A L 49, 300 49, 600 0.6
() —41 LM AR651% 11, 400 11, 300 A 0.9
() 3 —1 BHITFRE  F2947% 1 23, 000 23, 000 0.0
AT (B 3 — 2 Vi RBT 51819353 12, 600 12, 700 0.8
AL (BR) 3 — 3 LR SIT397% 1 17, 100 17, 200 0.6
() 5 —1 T EHT26% 1 77, 900 77, 900 0.0
AL (JR) 5 — 2 BT 38% 1 102, 000 103, 000 1.0
AL (BR) 5 — 3 FERT10% 4 TREBT15—14] 59, 700 60, 000 0.5
L () 5 —4 ] B BT B 48T 174 106, 000 107, 000 0.9
AL () 5 —5 2 T H602% [%E 2 —29—10) 108, 000 108, 000 0.0
L () 5—6 5] B BT 4709 1 114, 000 115, 000 0.9
AL () 5 —7 S RT U5 [ 4337 1 BEER 108, 000

AL (UR) 5 — 8 PRI 37 81, 700 81, 700 0.0
AL () 5 —9 BESBTR AT\ H 2297 3 4+ 26, 000 25, 800 A 0.8
fayr (J) 5 —10 EARET N 6125 16, 000 15, 700 A 1.9
AL () 5 —11 LR BEINT &R BH65 154 23, 800 22, 800 A 4.2
fayr () 5 —12 EBITERT 7423 5 5 54, 500 55, 300 1.5




fayr () 5 —13 SENTHEFN1267 28, 900 28, 500 A 1.4
fayr (J) 5 —14 WHEMHE BT &, 12055 1 41, 500 41, 700 0.5
AT () 9 — 1 JIEMT 2K+ F44953% 17 16, 500 16, 500 0.0
AL (UR) 9 — 2 JE S T i A 1601 & 5744 17, 200 17, 000 A 1.2
() 9 —3 J\HT VT B8 R 1128 5444 9, 300 9, 300 0.0
AL (BR) 9 — 4 RIEMTVE 2 45753 1 4F 8, 850 8, 850 0.0
AT () 9 —5 HHIEHT #71t5837 16 15, 000 15, 000 0.0
L () 9 —6 TR T 525 12627 1 4+ 36, 800 36, 800 0.0
wEH R —1 G T 233 11 51, 100 50,500 | A 1.2
wH R —2 ENHI T 636332 28, 400 28,300 | A 0.4
wH (R —3 FRETT01% 14 34, 400 34, 300 A 0.3
wEH ) —4 HJIMT4105% 1 49, 500 49, 100 A 0.8
wHR) —5 JEAT T A 4227 24, 100 23, 900 A 0.8
wEHR) —6 —BEET = [H754% 3 16, 100 16, 000 A 0.6
wH R —7 LYEBT £ 45/ \568%56 14, 300 14, 200 A 0.7
wH(R) —38 ot IR VAT 9, 800 9,750 | A 0.5
wEHOR) —9 JERT 47173847 1 8, 700 8,650 | A 0.6
EH () —10 CREET =B 141710 22, 500 22,300 | A 0.9
wHE R —11 JEHRT A H219% 9 4, 600 4, 550 A 1.1
EH) —12 PREEMT R 22 A R555% 3 3, 300 3, 250 A 1.5
HEH ) —13 PREEHT AR AR A 589 9 3, 300 3, 250 A 1.5
R 5—1 B ET 847 3 68, 100 67, 600 A 0.7
el () 5 —2 i 3 07383 4+ 48, 400 48, 300 A 0.2
el () 5 —3 ST B4 A 9747 1 13, 400 13, 200 A 1.5
HH(R) 5 —4 JRRT 411605 7 9, 500 9,400 | A 1.1
() 5—5 —FEMT = FE13113% 1 4+ 31, 500 31, 100 A 1.3
wH R 9 —1 TAFET327% 100 14, 100 14, 100 0.0
Tl () 9—2 JAEET3050% 364 13, 700 13, 600 A 0.7
HEOG) —1 HIE 4 T 534 3 3% 7 4 41, 300 41, 300 0.0
HEO) —2 WA IRIT 6 T H6THE 41, 000 42, 000 2.4




HEM)  —3 A E RIS R 957 4 31, 800 31, 800 0.
HEM) —4 HHEFRT7017530 36, 100 36, 100 0.
HEM) —5 %i‘fjﬁmTalo%B TR 2 — 36, 400 36, 400 0.
HEMB) —6 REEHTF P4 25587 18 30, 000 30, 500 1.
HEO) —7 AT 22237 3 23, 200 23,000 | A 0
HEO) —38 AfilTdEART 4 T H 3715 43, 300 43, 300 0.
HEMBD —9 HEN891E 6 25, 900 25, 900 0.
HEMB) —10 YR FK A 2785% 5 29, 100 29,000 | A 0
HE ) —11 HAE TS 2 N 1882% 5 18, 500 18, 500 0.
HEER)  —12 V- BT 1703 32,800 32,600 | A 0.
HEG) —13 AT AR S5 1 % 25, 500 25,300 | A 0.
HEW) —14 Wy T — 2 B14073% 2 25, 900 25,800 | A 0.
HZE () —15 e BT ZE A% R 7413 4 5 4, 700 4,600 | A 2.
HZE(F)  —16 e T — 7 o BEH 21253 1 4+ 3, 300 3,200 | A 3
HZE () —17 KA MR EETE -4 T 24337 21, 700 21,600 | A 0.
HZE (F)  —18 2] 1 H #8497 204+ 8, 000 7,900 | A 1.
HZE(F)  —19 S M AT 13527 4 8, 250 8,200 | A 0.
HEZE(R)  —20 LI/ NH 150817 8, 350 8,300 | A 0.
HEOR) —21 TWERT = ¥4612713%13 16, 800 16, 800 0.
HE ) —22 IARERT —5B17297 1 8, 900 8,800 | A 1
HZE(F)  —23 R AT & P00 5 75 7 40072 18, 200 18, 200 0.
HE ) —24 RALETHFEE R R 11112597 11 26, 000 26, 000 0.
HEW) —25 2B BTIE R 39135 25, 800 26, 300 1.
HE(R) —26 )BT B BT )1117303% 2 22, 200 22, 900 3.
HE ) —27 251 [T IE VL 1555%%63 24, 200 24, 900 2.
HEGD) 5 —1 FREET2 TH 1% 1 67, 300 67, 700 0.
HEM) 5 —2 JERGIT1055% 1 75, 100 75, 400 0.
HEM) 5 -3 fﬁﬁ?ﬁ 3 T HBOFA THitathni 3 — 43, 700 43, 700 0.
HEUR) 5 —4 T RTF)112248% 2 46 33, 200 33,000 | A 0.
HEU) 5 -5 1 F T 3% SR 15867 34 7,900 7,800 | A 1.




MEU)5—6 1G0T 25876721 14, 400 14,200 | A 1.
HEMBD 5 -7 HIFEE TR 1213% 2 29, 100 28,900 | A 0.
HE(R) 5 —8 RALBT AL T HESR11113647F 115+ 54, 700 56, 600 3.
HEO) 5—9 2 )[BT B 748315 2 31, 300 31, 600 1.
HEER) 5 —10 )[BT H R 38497 28, 700 29, 000 1.
HEER) 5 —11 KEHA 2 THA4%E 34 45, 500 45, 500 0.
HEMD 9 -1 FEENT516% 9 4t 7, 250 7,500 3.
HEMB) 9—2 Wy My — 2 YJATTES 144 13, 900 13,800 | A 0
HZEOR) 9 -3 Z A% 0] 1 HAE9087 1 7,100 7,000 | A1
HEOR) 9 —4 HIHER 5% 14k 16, 900 16, 900 0.
HEW) 9 -5 ) IRTYEJFR 3167 8 4F 9, 550 9, 550 0.
) —1 ik T & & BT A 333% 5 35, 800 34, 400 A 3.
WHOE) —2 HOHT 1628726 [ HHT35—25) 25, 700 24,900 | A 3.
) —3 ﬁ%lTE%low% L 28— 29, 800 28,600 | A 4.
wHER) —4 TAARET 705722 24, 200 23,400 | A 3.
() —5 Z8-1-WT A1 68380 [ZH1-HT54—10] 23, 500 23, 000 A 2
wH0) —6 A EET517E 14 26, 800 25,700 | A 4.
wHO) —7 EARMT LA A 218% 2 5, 800 5,700 | A 1.
wH ) —8 EABMTALIES89E 1 5, 800 5,700 | A 1.
HHEOE) —9 FEHBET )| & 6887 4 3, 950 3,900 | A 1.
AH () —10 DT BT TE )1 A 40278 1 4F 1, 760 1,720 | A 2
R —11 VESLETIE ) A 262 1, 560 1,520 | A 2.
WHOR) 5 —1 HIFIEOHMT15%26 52, 400 50,800 | A 3.
() 5 —2 EABMTHT 51800 4 4+ 8, 200 8,100 | A 1.
wH () 5—3 PC LT PC B, A 1268% 6 5, 300 5,200 | A 1.
e (R) 5 —4 HTMTA618%F 1 [ZHTH42—12) 34,000 33,600 | A 1.
2H () 9—1 %;%fTE/rH%%BB EET —12 22, 400 21,800 | A 2.
KEFE) —1 K H K BT OK A BT A 2763 3 29, 000 28,300 | A 2.
KEF) —2 KHBTREHSS /e 818% 4 19, 300 18,700 | A 3.
KHEW) —3 K H R K 52K T2~ 2827% 21, 800 21,200 | A 2.




KEW) —4 R AMT R/ S5 11 3337 18 22, 900 22,900

KHEW) —5 K HHBTR B S =R = 11123 7 4+ 25, 800 25,600 | A
KEF) —6 K HHBTK B 5[/ A = 328% 4 19, 700 19,000 | A
KHEG) —7 TSR T /N R AR A 417511 17, 300 16, 800 A
Kp () —8 RT3 8] 16087 14, 700 14,600 | A
KE(R) —9 {EERT G 3K il 117367520 8, 300 8,100 | A
K 5—1 K ET R H S e 9407 8 4 33, 300 32,300 | A
KH ) 5—2 BRI 0 i E 431540 17,700 17,200 | A
KHER)5—3 BT R TG A 548% 3 32, 400 31,700 | A
KHEO) 9—1 BT B 4137 15 5,000 5, 000

LR —1 LR ST 5 -5 17483 1 25, 600 24,800 | A
2ok () —2 BT 4 1713530 22, 600 22,100 | A
2k (F) —3 BT RERL 1878 17,000 16,700 | A
2k (F) —4 AR Y 3327 20, 100 19,700 | A
LR —5 TFURR] 955 7,300 7,200 | A
k() —6 JRHERT S HES6275 3 15, 800 15,400 | A
k() —7 JRVERTAT 16673 5 7,900 7,700 | A
2k (F) —8 fHRMT %2 12507 9 12, 800 12, 800

k() —9 HHEERT ) 1| PE 4913 7 16, 200 16,000 | A
k(R —10 e A ARBT 38 547 13 18, 000 17,800 | A
2ok () 5 —1 LERATFN 1182 174+ 35, 200 34,000 | A
2ok () 9 —1 ETEAT1143%13 14, 700 14, 700

TEHEOR) —1 TLEETTAR T 12187 16, 600 16,200 | A
THE(R) —2 BT AR AEARR19713% 7 9, 900 9,800 | A
TEE(R)  —3 W F-HTA 1255745 15, 900 15,500 | A
T () —4 FRGERT A 1322% 18 22, 300 21,700 | A
JLE(R) —5 AR EFHEMT 23327 2 24, 600 24,300 | A
LER) —6 HEERIET353%20 14, 400 14, 200 A
ARE (T BETHET)IF 147 1 4+ 12, 600 12,400 | A
LA () 5 —1 FAENT2306% 24 45, 200 44,000 | A




THE(R) 9 —1 HSEFHERT 2307 195k 8, 200 8, 200
Ep (R —1 2 T T KR 10907 6 18, 800 18, 800
EpR) —2 AR ARI279% 6 4, 450 4,350 | A
LR —3 KR SR T 387 % 7,400 7, 400
Er(R) —4 DRI H 10117 1 20, 100 20, 200
Ep(R) —5 JNSERT AR 140% 3 12, 900 12, 900
Ep(R) —6 AR HAB27TE 19 6, 600 6,500 | A
EpR) —7 AT T 44138 20, 200 20,100 | A
Ep(R) —8 ARUET S H %1647 11 12, 800 12,600 | A
EER) —9 ARURE] FREAF 12109 1 28, 900 28, 900
LR —10 = JJRETHE T 858% 5 4k 14, 000 14, 000
E (R —11 HEARTHE2190% 1 9, 650 9,450 | A
Ep (R —12 =) RIT =) E9567 3 17, 600 17,500 | A
EFR) —13 = )R = J) B 1230758 22, 000 22, 000
Er(R) —14 & ] & 50727047 7 6, 400 6,300 | A
LR —15 w5 AT RIS PR P50 2, 700 2, 700
L (IR) 5 —1 ARIRA] AR 468 6 25, 900 25, 900
L () 5—2 = JJRET =) 353 2 4k 37, 000 37, 000
L (lR)5—3 HE T H521509%66 10, 900 10,600 | A
Er(R) 9 —1 KU MY L 51093 % 10441 17, 800 17,500 | A
BHER) — 1 |[CZECREEN FE{H345% 1 10, 800 10,700 | A
WHEGLY) —2 | =Zpk710% 4 17, 100 16,800 | A
WHZE(R) —3 |#&1556% 8, 050 8,000 | A
WHZER) —4  |BiH6e84%E 14+ 14, 300 14,100 | A
WHEGL) —5 | ERHF478E 7 8, 650 8,600 | A
WHZEGL) 5 —1 | =Ak260% 2 22, 200 22,000 | A
WHZE(R) 5 —2  |FH1043% 2 4+ 22, 900 22,700 | A
e () — 1 B A R A T A 16087 2 9, 100 9,000 | A
i () — 2 TE 52201720 8, 500 8,400 | A
i () —3 TEFEI9%: 3,290 3,270 | A




i () —4 B 1008% 1 4, 950 4,900 | A
i () —5 FR4124% 3 6, 700 6,600 | A
i () —6 THR4 13447 3 3, 650 3,620 | A
i (J) 5 — 1 TE 5 2079% 7 13, 300 13,000 | A
i () 5 — 2 FR41660% 2 10, 400 10,200 | A
AL —1 EFARNAET K7 A11473% 3 5, 950 5,850 | A
JIAR) —2 KF)A427 15 13, 500 13,300 | A
JIAR ) —3 KFIRF351% 3 4 7, 450 7,400 | A
FMO) —1 LYRHT IR 657 1 5, 800 5,700 | A
M) —2 FIH277 % 9, 200 9,100 | A
EMIR) —3 HBEIT497 1 2, 950 2,900 | A
ERHOL) —4 FEASR397E 1 4+ 4, 000 3,950 | A
FMI) 5 —1 FHPANTTE10 13, 600 13,400 | A
B (R —1 (2L AT R ZE A0 1478 3 3,950 3,850 | A
B () —2 24133 1 5,000 5, 000

Erg () —3 403 % 1 3, 650 3,600 | A
B —4 HIAR1944% 3, 950 3,850 | A
BrUR) —5 T HT258% 8 4,950 4,900 A
B () —6 % 1381716 5, 250 5, 250

B —7 HE3220% 2 3, 350 3, 300 A
g () 5 —1 T H 5543 3 4, 750 4,650 | A
Erg (J) 5 —2 HiP48% 2 5, 550 5,500 | A
Erg (J) 5 —3 % Fa2FSh 6, 750 6, 750

Erg () 9—1 THAT93%E 1 3,950 3,900 | A
AR (W) — 1 |BERAREFNERETSEH 8 N 1 15, 000 14,700 | A
() —2  |FEas2E 23, 800 23,100 | A
() — 3  [fRHE=507E 27,000 26,200 | A
B () — 4 |P9T4%A4T 14, 700 14,500 | A
R () —5  |FIRT90% 1 11, 700 11,500 | A
EREF () —6 /2859907 2 3, 900 3,800 | A




R () 5 — 1 |[HAe77%S5 28, 900 28,000 | A
AR () 5 — 2 [AJF226% 1 18, 900 18, 400 A
sHEOL) —1 H TR ARB67E 6 9, 000 8,900 | A
HHEO) —2 MiA223% 2 6, 200 6,100 | A
HHEOL) —3 N B Hi872% 12, 400 12,200 | A
HHUOL) —4 + H 6263 8, 100 7,900 | A
HHEO) —5 NN 2997 5 8, 400 8,200 | A
HEO) 5 -1 7S H H785% 4k 16, 000 15,600 | A
k) —1 Retleg Ay I RS 11239 1 44 8, 750 8, 750

et () —2 KFIF1671% 4, 400 4,350 | A
w0k —3 RFFE204% 4 5, 000 5, 000

Mt (%) 5 —1 RF-EIF96 72 17, 200 16,800 | A
RO — 1 |V BECRFHE T HTATE 1 14, 000 13,900 | A
w0 —2  [REFERTFRE299% 1 12, 700 12,400 | A
o0 — 3 | KT m663E 1 16, 000 15,600 | A
B0 5 —1 | RFETFUEM/NE3513E 1 27,100 26,500 | A
k(R —1 HRFFFAR Y 22743 3,900 3,900

MR 5 —1 FER10143% 2 7,900 7,850 | A
FRisz oD g (JL)  — 1 |RRlsk oD J5 BT it R (= 175535 1 14, 200 14,100 | A
Bz o &5 (B)  — 2 [INySeAe & 2573 2 5, 900 5,800 | A
PRz o 5 (J)  — 3 [5MT110% 21, 800 21,700 | A
B D B (W) — 4 (A F 2139 2 9, 300 9,000 | A
fRi oD & (W) — 5 |#65 BN R 2348% 7 4t 10, 700 10,500 | A
Rz oo 5 (I)  — 6 [db5 X H3063 1 8, 700 8,600 | A
FRisz o> 5 (W) 5 — 1 [T E & / 28% 1 41, 300 40,500 | A




